)

P120X6=720

L e

1030

[

960

o

bbb

P120X7=840

n
>
R
>
u

(

1000

>>>

VU IRby 4 (UT-50)

TLN-25947 #EMmE400kg

wREHNTIU—> TLN-25ANT

N | [SPCC-SD 1.7 1030 {LEhRertt
7T [PUr Y- 4 AJ- K

6 FIHUIF | |SPHC-P t2.3

SENVEES 2 [sPCC-SD t1.2

4 =D UIRIVE— 32 [PPiikg UT-50

3 pRLI=20L—A 4 [sPCC-5D t1.2

2 P=RN4T 2 [STKM 20bXvF|025.4Xt 1.6

| [ “llspcc-sp fr1.2

H8 1
328 205 48
122.9
( ol Hzzzses =
: Lo oooooo oV
Q. ° -
QN
s ° -
o €@] O
oooooo O O QN
oooooo — — —
oooooo N —
° O
X
% o
Sooooo -
oooooo
(@]
~r
(@8]
Qd

S ETHL




